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QUESTION 1

Identify three valid statements related to IB Sorting. (Choose three.)

A. IB Sorting can be done by Manual and System driven method

B. IB Sorting is done after Putaway

C. IB Sorting will group SKUs with different Putaway type and build in a single pallet
D. IB Sorting is done before Putaway

E. IB Sorting is done based on Putaway Priority.

Correct Answer: ACE

QUESTION 2

Which two data conditions on the Outbound Order will always result in unsuccessful cross-dock allocations in WMS
Cloud? (Choose two.)

A. The item on the Outbound Order does not match the item on the LPN being received.

B. The quantity of the item on the Outbound Order is less than the quantity of the item on the LPM being received.

C. The quantity of the item on the Outbound Order is greater than the quantity of the item on the LPN being received.
D. The item on the Outbound Order is a batch tracked item.

E. The quantity of the item on the Outbound Order is exactly equal to the quantity of the item on the LPN being
received.

Correct Answer:. AB

QUESTION 3

When the Ship Load interface is generated, which statement is false?

A. The Load is updated to "Shipped" status

B. The Wave is set to "Completed" status

C. The Orders on the load are updated to "Shipped" status

D. The shipping cartons (OBLPNSs) assigned to the load are updated to "Shipped" status

Correct Answer: C
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QUESTION 4

In which two ways can you execute the detail cycle count of LPN Detail by sku scan? (Choose two.)

A. using "Cycle Cnt" screen with screen parameter content-count set to "sku-scan"

B. using "Cycle count for LPN deffered/immediate updates" with screen parameter sku scan mode set to "By Sku Scan"
C. using "Resv Nbr Cnt" screen and with screen parameter content-count set to "sku-scan"

D. using "Cycle Cnt" screen with screen parameter content-count set to "Null"

Correct Answer: BD

QUESTION 5

Which five combinations of lot and expiry date are valid scenarios in WMS Cloud? (Choose five.)
A. Two IB LPNs of the same item have different lots and the same expiry dates.

B. Two IB LPNs of the same item have the same lot and the same expiry date.

C. The IB LPNs have an item with the same lot and different expiry dates.

D. An item is lot-tracked but not expiry-date-tracked.

E. An item is expiry-date-tracked but not lot-tracked.

F. Two IB LPNs of the same item have different lots and different expiry dates.

Correct Answer. BCDEF
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